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EAN10FEBADEE El/SEH— E2/IHBE E3/RSIET D/MEHE. ANME
$1EmH ®2Em
B | S50 BEL JUHF RO ast
El E2 E3 E8m= D= B El E2 E3 ES= D= B
1 2 =TI S=1 FTHYY FhHx F& SRV OST 7.0 6.9 6.9 20.8 0.9 21.7] 7.0 6.8 7.0 20.8 0.9 21.7 43.4
2 4 =21t BB 42JFL VYOI AV NS RUSOST 7.1 6.7 6.7 20.5 0.7 21,21 7.1 6.9 6.8 20.8 0.7 21.5 42.7
3 8 LS 2 N JFH Bk BERANS RIS OST 6.5 6.2 6.3 19.0 0.9 19.9] 6.6 6.8 6.8 20.2 0.9 21.1 41.0
4 12 B fmA 4 Ok RERANS RIS OST 6.5 6.4 6.5 19.4 0.8 20.2| 6.4 6.5 6.5 19.4 0.8 20.2 40.4
5 11 FE AR 9./ U BERANS RIS OST 6.7 6.5 6.5 19.7 0.6 20.3] 6.3 6.5 6.7 19.5 0.6 20.1 40.4
6 13 TH BF SES P41 RERANS RIS OST 6.0 6.2 6.2 18.4 0.8 19.2] 6.4 6.2 6.4 19.0 0.8 19.8 39.0
7 6 L8 4= 5 FF= BERANS RIS OST 5.9 6.2 6.1 18.2 0.8 19.0] 6.0 6.4 6.4 18.8 0.8 19.6 38.6
8 10 R % AT =F=E BERANS RIS OST 6.0 6.2 6.0 18.2 0.6 18.8] 6.1 6.3 6.2 18.6 0.6 19.2 38.0
9 1 By fE SFH VIX FE& SRV OST 6.0 5.8 6.0 17.8 0.7 18.5] 6.0 6.2 6.2 18.4 0.7 19.1 37.6
10 7 an Z SAZIOF HTI)L BERANS RIS OST 5.6 5.9 5.7 17.2 1.0 18.2] 5.6 6.1 5.8 17.5 1.0 18.5 36.7
11 5 WA ™A YOF TFH BEANS RIS OST 5.1 5.2 5.1 15.4 1.0 16.4] 5.6 5.8 5.4 16.8 0.6 17.4 33.8
12 9 FE J\S Uao+ BEANS RIS OST 5.9 6.1 5.8 17.8 0.3 18.1] 4.7 4.8 4.8 14.3 0.5 14.8 32.9
13 3 Wk & O—XAXYU— RYrHH JULh O—-X<UA AV NS RUSOST 0.0 0.0 0.0 5.1 5.1 4.8 15.0 0.4 15.4 15.4




